www.tawjihnet.net A aragd 2394 d..\.QA_\

LXAAEL | Y0se LERE el Al
LS ORS00 L Gaedell e i 85159
A SOE L20 el ppGmily
CrasSill g A 5l 4y sl Agapatsy)
25 9a) S Bl )l dgal
by 1 A
2015 599 599 Ailind) ugpall Balgad Jil paul8y) da gall Gladay)
L83l alu 4oy jualis
:(Abiinp) (Lase dAadil) J4Y) Jiaall
2,002 -11/5-2,201-2,23 - 22 (2,5) Ll casijillg
2,3 el al2
1593,8+ 237= 1830,8 {c1)
1830,8 - 403,97= 1426,83 {c4,5)
75 56,24 x 47=  2643,28 (¢2,5)
’ 349,44+ 52= 6,72 (¢2,5)
3 2 2 20
i — ey «J yial i-
(1 5))((0,6-!-30) (5X30) :d il g cual-3
2.5 _ :
’ 150 (¢1,5)
4
Sl (c1)
(¢2) 5x500 000=2500000cm  cm w Adall Johli:illueg
(1,5) 25km km o Bial) Jshll
3,5
3 ((hRi11) (Asedin alddl) SN Jlaall
(¢1) iyl (G2)  80° Lyl M o e 3N -1
3 (1,5) ogna dyglhdl bl (G1,5) A b Rus W 46 i sate 4k ey -2
y {¢2) (D) pattasall Loty pusaia el o) (Baatl -3
Allallg
320 + 2= 160 m (0,5) sl Ciual
3 160:4 =40 m {0,5) o2l
40x3 =120m {0,5) Jshall
120x 40=4800m> (¢1,5) cooa el Aalal
2(Ahiig3) (bl Ansi) SIEH Jaall
10 Jagadll -1
a)67 dam (2,5) b) 0,455t (2,5)
¢) 11,02 dam? (2,5) d) 870 dm’® (2,5)
- Al -2
6x3x2,5 =45 m® (1,5) S yialls o 33 aas
3 45x 2/3 = 90/3 =30 m° = 300 hi (1,5)  AsSell elal) L8

40






